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Solving Systems by Substitution
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solution to a o(ﬂotfzm
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Warm-Up - Thursday

1. Given x - 2y = 4 and x=1,
what is the value of y?

—2U = l,l
{729=Y
NG
2. What does the word
substitute mean to you?
NN\

replace

=
Y
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Algebra I — Unit 6: Topic 1 — Intro to Systems

Practice — Writing Systems of Equations No textbook correlation
Name Date Period
Write the Let Statements and derive a system of equations that could be used to solve each problem.

1. The admission fee at a small fair is $1.50 for children and $4.00 for adults. On certain day, 2200 people enter the fair
and $5050 is collected. How many children and how many adults attended?

Let Statements

2. The treasurer of the student body at a college reported that the receipts from a recent concert totaled $916.
Furthermore, he announced that 560 people had attended the concert. Students were charged $1.25 each for
admission to the concert, and adults were charged $2.25 each. How many adults attended the concert?

Let Statements

3. Flle went to Pet Smart and bought 4 goldfish and 3 turtles for $28. Later that day, Warren went to Pet Smart and
bought 6 goldfish and 1 turtle for $10. How much does 1 goldfish cost?

Let Statements

4. The perimeter of a rectangle is 40. The width is four less than 5 times the length. Find the dimensions of the
rectangle.

Let Statements

5. The school track team earned $2 for every hat they sold and §5 for every sweatshirt they sold. The total profits were

$317. If they sold 1 more of the hats than of the sweatshirts, which system could be used to find how many
sweatshirts they sold?

Leat Statements

6. A boy has seven more nickels than quarters. The total value of the coins is $4.90. Which system could be used to
find how many nickels and quarters he has?

n=7+gqg n=7q g=7+n 5 n=7+q
0.0577 +0.25g = 4.90 "n+qg=4.90 c, 0.057+0.257 = 4.90 "n+g =490



3 Substitution.notebook

January 15, 2015
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Essential Question How do I @ind a volution to a o(jatzm uaing oUbdtitution?
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oolving 1ith aubsbibubien pelS

Essential Question How do I %ind a solution to a otjotzm uoina oibdtitution?

dolve each éyé?éem of equabions. Ansiers should be uribben as an ordered pair,
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Essential Question How do I find a oolution to a otjotzm uoin@ oibdtitution?
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Solving with Substitution p./8

Essential Question How do I @md a volution To a o(jotzm uom@ Qubatitution?

wGwen the equat[ﬂn%\&\AWan X+2y =—/,

what would you substitute for x in the equation

2x—3y =07 Jolye Y X
A 7 +2y

: X+ 2
Biziy ;%'29 5
= .

8 A jar contains nickels and dimes. Thereare 20

coins in the jar, and the total value of the coins is N ¥ a = 20
$1.40. Writea system of equationsto determine how S
many nickels and how many dimesare in the jar. 09N+ -1 d \ %O

10 dimes, 10 nickels-= 6 + 4o
10 d[mes 8 nickele=> wo+ 2D cOIQOS
dimes, 12 nickels
D. 12 dimes,Snicke[s
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On the next page in your notebook (p.79), write or draw
out the steps to solve a system by substitution. Your
steps should include an example and C

SOLWVE FOR A
VARIABLE

SUBSTITUTE INTO 2N

I@ (jOU Y\Md aNn QXO\W\P|IZ... FQUATION &
SOLVE

y - X = 2 SUBSTITUTE [N 13T

-3X + 4y = 11

SOLWVE

CHECK YOUR
SOLUTION!
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OMIT #3, 9, & 1. Check ansuers @Mskmabh

Algebra I - Unit 6: Topic 2 — Solving Systems by Substitution
Practice — Solving Systems by Substitution pp 390-396

Name Date Period

Find the solution for each system of linear equations.
y=2x y=2x-5
1
Tox+y=12 T dAx+y=7

GMIT OMIT

5. The equations of two lines are 2x —3y =12 and x =4y +1. What is the value of xin the solution for this
system of equations?

Find the solution for each system of linear equations.

4y +x=5 N\ _
X+4y:10 ?®MIE79“X_Y_?
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Algebra I - Unit 6: Topic 2 — Solving Systems by Substitution

Find the solution for each system of linear equations.

8.

9.

10.

11.

Tyler is six years older than his sister, and the sum of their ages is 32. How old is Tyler? How old is his sister?

Let Statements

Answer (complete sentence):

What mistake was made in solving the following system of equations?
Bx+y=4 —> y=3x-4
3y=15x+6

Step 1: 3(3x-4)=15x+6
Step 2: 9x-12=15x+6

Step 3: 6=24x
1
Step4: ==
ep p X

A Did not solve for y correctly

B Did not distribute correctly in Step 1

C Should have subtracted 9xfrom 15xin Step 2
D No mistake was made

At the Cinema Snakshak, one customer bought 3 large popcorn buckets and 2 small drinks for a total of $21.00.
Another customer bought one large popcorn bucket and 4 small drinks for a total of $17.00. Find the cost of a
large popcorn.

Let Statements Answer:

(in @ complete sentence)

Given the equations y —3x =8and 3x =2y +7, what would you substitute for yin the equation 3x =2y +77?
A 8-3x

8
E
8+3x
Be3x

[==]

X

o0

January 15, 2015
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Solving with Substitution HW Help

Essential Question Howdo I @inci a volution To a o(jotzm uoing ubatitution?

1. (3, 6). Substitute 2x for y in the 2nd equation.

2. (2, -1) Substitute (2x - 5) for y in the 2nd equation
3. OMIT 4. OMIT

5. x = 5. Substitute (4y + 1) for x in the first equation.

6. Solve one equation for x. Substitute x into the other equation. What
happens to the y's? Do you get a true statement?

7. OMIT

8. Let Tyler's age be x and let his sister's age be y. Your system should be
X=6+Yyandx +y=32. Replace x in the 2nd equation with (6 + y). Make
sure your answer makes sense!

9.C
10. A large popcorn costs $5. Make sure you show your process.
11. ADD 3x to both sides.




